QigHot QAR T 2014

6&59&” 0

d‘ﬂ ; d_ bt
o Lx
.21}’ 6%1':: O
'Zx‘(x—
x=0 X= 8

5. C\ CUA/T(L@(E,()

frows = J g+ 426
= (:) .

Cq cemmé (Q,'z)
fLanws = 6

(e (x-4)'4 (4+2) = 3¢

2, P A fooTs

bq" Gore =0
wzt be(h-5y =1
b - bnc =o
(=) ~%()() =0
- h$25 - =5

1
k- tonr 421 =0

(LB) (r-9) =0

hed ke

Sor—
S —————

4 94-6m+cC
Il = dm + C

)
~
O~
>
O
s
V‘

t)
o~
PR




| & _ ol
5. Ab (9(;) e (f%\ 6. Y= (1-3x)

=4
M ¢
— —n - ~ w
(l—/f‘; = YRC dr T ‘S'(l 5*) X (“})
3 | -6
As ,Ai s A MucTifud oF BC = lS’(l-EX)
THsf AE Ianacce AD Az _ 1S
N -
Ty SHMWE A (oo fu7 °B (- B)L)é
THA AN CotUl/eAR e
5) > ¢ 7 TAY 30 G
A % C
e MR
AL b C '
S (d#p(,(:«‘f}@(*o)
rd +U3X = (
, sy

f (%HL UH) - (31141 1)
~|

) SZ xtyx 42 S
{

-

b) ['/})( + /Ll 4 ij

(AW ) - (é( REAQEECD
. - 1)

(a

V)

7 Uninn ©




4. .V = F(H’Mb)+ (GZ)% 613)) 1 (Q ve)
= 2P HIGP + 6 +2¢
- Z\OL"‘HOP#—'}Q

b) Ll WUVO ¢) Rn P 35:2_\(

2Pt 416 0 + 30 =0 Sps 2 (2Ptie)

Z((’L-f }p+15) o P = P+l

2(?4'})((’{3’ = P:‘Qﬁl
—

P= =%  p--s

EEEE—— e —rmc—,

\ |
10. m) n=" ", K @5(31«%);/&

L) s -2 ’ %
 [hsa(e-m) {1

/s 5~ (/‘7} - %) -’/35(\(-12

]

11
N
N
Gk
|
VS
o
o
3
——




iz {(5-x)

-
Y

1

a—————

IS

b)worfees Bt X7 S

. loA 4+ L1og, S

ol
-

~
-

"

b) 1(%3 1(79'“?)\ log ?,3 = §

l%w((r'\l' ‘oﬂw S7~

laﬂm G + l,)(jw'?,r

(oﬁm (oo

(a

p———

Fx-2 _
= =

71'/2- - 3

g,

s

1S, SA2x+ blstx =0
St (est + bCosx = ¢
2asx (S +3) = C
(s2=0 S~1=-3

A= 5’()/ A Y] M Sswi

J——
,‘——'—-————_-

5) SAlot b st = O
x= c/O/Z,q\D/Q:\DI b3

= Qi: IS 22§, 1S
L



Ib. ¢ (l,-—z)

DisTACE \/; %4 (h*l)z

0

\/k a4+ v 4k +(

= J KT +Gk +03
) R+ Gh+1y > 28
R* + 4k —2 > O

(k+e) (k-2)
-0 A

. (Smlh Co&L)Z o Sntx - Zemsx Sex + (o3t
= | — Z Snxcosx

= | — Sn 2x




Hiett Paeen IL 2ot

e
. Mobt AC ('(“/’3) b) Mbc' T \

Mw: “,/3 M.L: l
o B uj+|7.=76“5'
4+38= -h(x ) y -2t
'}cj:-X,-lS =
- c) qﬂ:~zo
(4;'5’
x:l
( 1,-5
. féx"z-arh e T

AT P ALN S

i

—

—> e
vyne=s ~f+r (F-F

-

V) €F= —Fapy YL C%g L-F )




b, oy = 09934, + 30

~= 0433 b= %0

e ————————

A -1 £ 0.99% £ | THe  Popamnss ik STOVRss L My Lo TotA.

W 0.029L = 30
/= 0

- N
0.011

= i e,

= 1100 ™ awwm Heomod

s. .| / 1%

(

|

[ 3‘0)~
2 Jq T
(., NHws(rte) = Resxtrn - Rt Son
k :
oS =T A = 3/1 A= 563
hfjxm =3 |
Rz Vit
ST

Lersx = Dsaa = chog(ocﬂts’e.kj



b) T (s (4563) =

(S (')LJ‘YG-B) = 9:/{3
rise = 3577 'SZ(L'S/ 5434
/

L= 230° /'53‘4,9 °

S— am—

Fo (- Qx+2/f>
-~ -0 (9(, 'l)l--\

b $0) = ~bxt e 2ex ~ 28
- ,(,(7.—1)14 @w Mw))

Avnts  Newaws Rk AL Vs oF X

3. Y- yx 48
Y-8 = U=
i (4-3)°= x
5'((") = (x-3)

b) q <x £1%



720-SF Yers

—

t -

A 10t =% =L
o -9 = L b

3 | -2 =2 &
b) .
('143)@)13 +x - 2x —Z)
1] D ~2 -2
L" ¢ 2
> ¢ 2 Jo
C%'H) (1") (31 Ay +L)

[0 . -—3\

| —_—

%é&‘/io

Swer Fzo  (add) 5 A A

(-1) S A inman

L dat x4 2
!)L’Qo»(, |
= (W) ¢(5)(2)
=z b - 2¢

= -3
bt 07 M fems omy,




W SA = 4 (»»h)+ 2(32) 4 Gk - 22°

= xh + 1328 + e 22"

()

\/: @1)1L\ o= 111’\

Axth =2t

toxh +16xt

SA- 2(,9((%9) b olbz?

< .cff.‘_)_?_ + 162"
~
- Gooo
= ‘(9761 + T ———
gA /6 (g
> 5=
% - O +
N 7
P Nrin A
we
AT x=¢
A
Az l6(s)t —
= G + W
x =5 = (o0 ¢




. (4: Obb%

to%ag = Iu(ﬁ((m\o)L

(04,4 = tog n + o4 b

tog 4 > DL/omb + log, on

mzj(tb = a1 lojgw:c/

3, . |
V- = 16x 41 Ax

4

-—

- 23+l +C

pfr 2= F Y=o

’0: 23-3(3) (B
C= -8

j(m = x>-31 41y ~-23

p—



14 .

1S~

. (U+v) = 2|

AL+ UV 2N

o+ txSxsé = 21

1b + Lo s 4 =21

2% (A6 = S

|

(s = 7
6= FT.522...

g
/‘/\ﬂnws T -0

-
—

-—
-

3 (x5

Yx - 1S

Ix — 2

M

o of CGirayg Cx— ) "4 ('j -7) E 6S




